Lesson 12

Read Chapter 9

Inverse function
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Suppose g(x) has domain —5 < x < 6 and range 1 < y <10
What are the domain and range of g(4x —5) ? §(x)=¢x-5
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Sx)
Suppose g(x) has domain —5 < x <6andrange 1 <y <10

What are the domain and range oflg(x) — by 5 (x)= GA-5
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Suppose h(t) = |t| find a formula for h(h(t) — 2) and graph
h(h(t) —2)
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Suppose f(x) is the profit made by selling x barrels of apples and
g(x) is the number of barrels of apples produced by x trees.
Explain in words the meaning of f(g(x))

N frees
P(O,Si-\'

The. Qfoji‘} rmade ba -S&e?mé Qfeees 5(om X T rees



1. Happy Thursday! I bought you this graph.
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(a) [4 points] Compute f(f( ‘f_(il_))).
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(b) [5 points] Find the domain and range of f~*(x).

(c) [5 points] Let g(x) = f(2z + 1) + 1. Find the domain and range of g(z).
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Given f : A— B
the inverse function f~1: B — A if it exists, is such that

FHf(x) =x., f(fH(y)) =
or f(x) = y exactly when f~1(y) = x
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Domain f 1= Range f
Range f~! = Domain f



The graph of f=1(y) is the graph of f(x) flipped around the line
y = x
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Does f(x) = x2 have an inverse function ?  AJO

¢ 7.- >‘§)
_Z->q') /
CA{;?I‘

A &unc*‘:on +hot Qoes pot ~S°-+f.5“f;_ hor-"éan’l“c-e ?;n&
+q__>‘\- 'S ﬂ°+ (nu&r'ri)rp{

4

4=




yes
Given g(x) = 2x — 1 empdhedoabrc x5 . Is g invertible 7 If
it is find the inverse , psZigraatn andztFrange
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2. Below is the graph of the function y = f(z) on the domain —2 <z <5

/ §(x)

(a) Which of the graphs below is the graph of y = 2+ f(z — 1) ? Circle the correct
graph.

Graph number 1

(b) If the domain of fis —2 < z < 5 what is the domain of the function % ?

(c) Compute f(—1)

(d) If h(x) = e/® Which of the values below is closest to h~'(2) ? Circle the the right
answer.

0.6 -1,25,-2,35



Explain why f(x) = —2x? + 60x is not invertible.
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What“is the inverse of f(x) = —2x? + 60x on [15, 4+00)
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A trough has a semicircular cross section with a radius of 6 feet. Water starts flowing into the
trough in such a way that the depth of the water is increasing at a rate of 2 inches per hour.

W = 2 X

Ve2- w2
o (?b‘hm.sov AN +Ll )
Y —C‘Z. M/ T)'“""' E=¢-1 f'

/ cross—section
of trough

(a) Give a function

w=f1)
relating the width w, in feet of the surface of the water to the time f, in hours. Make sure to

specify the domain and compute the range too.
(b) After how many hours will the surface of the water have width of 7 feet? (Round your answer to two

decimal places.)

(c) Give a function

t=1"'(w)

relating the time to the width of the surface of the water. Make sure to specify the domain and
compute the range too. +ina it
a3 sTee

& <36 (gqt«) Yo

13 th
&) w = 2 | 3¢ -(G-é-é) domea he ‘l'roos\.)
dHh
renge 0 we 12 [::_"t':;)

\
C)SOYR 50( Chm: iu__z:i(.?C"'(G—é.é))
, s i

a
2 -1 &
26~ = (673
+ (34-w2 = 66— 1L¢
4
:, 6 =+ J3c w e

1 E
6
L= 3616 \Ise»_\&l

g
Since €€3¢ £ =[f7(w)m 36-6 §36-w2

9



